
3sinxcosx + 4sinx = 4- 3cos^2x + cos x
3cosx(sinx+cosx)+4(sinx-1)-cosx=0
cosx(3sinx+3cosx-1)+4(sinx-1)=0
3cos^2x+2sinxcosx+cosx(sinx-1)+4(sinx-1)=0
2sinxcosx+3cos^2x+(cosx+4)(sinx-1)=0
2sinxcosx-2cosx+2cosx+3cos^2x+(cosx+4)(sinx-1)=0
2cosx(sinx-1)+(cosx+4)(sinx-1)+2cosx+3cos^2x=0
(2cosx+cosx+4)(sinx-1)+2cosx+3cos^2x=0
(3cosx+4)(sinx-1)+2cosx+3cos^2x=0

3sinxcosx + 4sinx -4+3cos^2x - cos x=0
3sinxcosx+4sinx-4+3-3sin^2x-cosx=0
3sinxcosx+sinx+3sinx-1-3+3-3sin^2x-cosx=0
3sinx(cosx+1-sinx)-cosx+sinx-1=0
3sinx(cosx+1-sinx)-(cosx-sinx+1)=0
(3sinx-1)(cosx+1-sinx)=0
3sinx-1=0
3sinx=1
sinx=⅓
x1=arcsin(⅓)+2pk
x2=p-arcsin(⅓)+2pk
cosx+1-sinx=0
cosx-sinx=-1
sinx-cosx=1
V2(1/V2*sinx-1/V2*cosx)=1
cosa=1/V2
sina=-1V2
V2(cosasinx-sinacosx)=1
V2*sin(x-a)=1
a=-p/4

V2sin(x+p/4)=1
sin(x+p/4)=1/V2
sin(x+p/4)=V2/2
x+p/4=p/4+2pk
x+p/4=3p/4+2pk
x=2pk
x=p/2+2pk
Ответ:x=2pk
x=p/2+2pk
x1=arcsin(⅓)+2pk
x2=p-arcsin(⅓)+2pk


